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BRI 177 176 12 - 1 10 39 46 84
EF- A 45 45 2 - - 1 7 11 26
aR 89 88 8 - 1 5 25 23 36
SRALET 3 3 - - - - 1 3 1
= hnEr 7 7 - - - 2 1 3 2
JIIiDET 7 7 - - - 2 2 - 3
HRET - - - - - - - - -
J\EEE] - - - - - - - - -
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A % R BERT 0 0 5 5 2 2 3 3 0 0 0 0 - - -
HRTAT AT 94 119 944 1,306 138 152 127 214 787 885 157 219 37 57 2,748
ES A 10 15 184 227 59 63 24 62 104 142 26 50 3 10 2,218
a7 59 73 466 702 47 51 92 127 394 422 92 122 32 45 42
IRARET 19 20 68 113 20 25 - - 69 89 2 8 1 1 46
= nEy 1 1 39 54 5 6 7 17 36 39 - - 1 1 77
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